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Basic USE OF PERCENTAS&ZS ExgrcisE

l‘ Dravws and com[:le,{'e. Ehe “Q)“DNI.43 tulle teo shows

Ctllu;v‘\lb.é' -Fra:.é—fang/‘ Pe.rce,nl:o.je_c and Aeu‘mo\lg.

Ferac Eiong Percentaqes Decimalg
| loo % | |. 00
z $o /. 0. So
207
ls-_.
0.47%
6 4
3
0.55%
(107
3
| 0.30
15 %
Non- Calcula€or Calculabor
a) Find 10% of A4k &) Find (7h of 62m
L) Fied  §4 of 32 £) Find 337 of £33

c) Find 207 of £)3

A) Food  T€h of 76m

k) Find 123/ of 75 m
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BRSIC USE OF PERCEMTAGES | Excecise
) a) Tnerense £$2 bj A e) Decrewe 243 63 27 /i

!:)) becfeas'e éﬁZ EQ 4 Z 'F‘) ILrcrease 30wm I::) |Z§‘7b

c) Trerease 771 Kj LU 72> 1) NecCease ZS'K3 55 JZ'
d) Trereate 128 m 63 32 L\) \bec./cug £25a0 6«3 422

Express 6 as « Parce.-,hje o€ 20
Express 37 a$ o percesbnge ot ¢3
A sack containg 32 balls., §3 are red and the
rest are Llve. What Percentaqe of €Ehe kallg

are (el and wAa.é Pefcc—,hse are blve 7

7L Apaaplf. tuke « dn’vmj Eest and 443
Pa.(.( Ele Eest, \'\/L\af‘ Puccu'l-uj-e. o€ {’co,o(g fASS
and wheat per¢¢n-La3e o€ Fe_o'ol( £a:\ ?
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RASIC USCE 0OF PERCENTAGES

L) S of £32

,070 = é?.lo
S Sh =410

ExercisS
l.  Fraekons Percentages Decimals
| 100 7, |.00
>3 <o .50
% O'Js’* 20 7 d.20
% 40/ 0.40
45 43 / 0.43
e or &, A 0.06
+ 33% /b 0.33
£ o R/ 0.5¢
oo or 1= 1o % [-10
2 75 /b 6.7¢
B or T RO /- 0. %0
s of 2% s A a.1¢
o) 10T of 44 iy ) 204 of 413
= 4.4 kq 0/ = £]).30
20/ =£3.60

4)

78 o€ 26 m
S0/ = 13m
25/ T 6-Sm

75 ) = 19.5 m
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BAsic UsE oOF PERCENTAGES ExXERrc)s €
2 ‘ |
cohtj' e) 1T /o of 62m 5) 42 of 3IS kf)
6lm x0.17 = 10.€4m BI kg x 0.04 = 32.6 ky
£) 33/ oFf £33 L) 123 e of TS
£83%0.83 = £638.89 TSm % 1,23 = 92,25 m

£¢.72 e) £43 x o0.27 Z£N.61
£C7.72 Fa3 - £1.L1 = £31.39

3.]a) #52x 0.

252 + £$.72

b) Z43xo0a4 = £13.02 |[€) 30m X 12§ = 37.5m

E43- £13.02 = £74.48 W0m+37.5m = £7.5m

c) T7ky #0.07 = .34 q ﬂ) ¥S kq x 0.0l = 0.8 Iy

7Tk +$.34K = 82.39k 3Ske —0.35 ke = 4.1 K
J g 4 g 3 g

d) 128w 20,03 = 3,78 m 1-1) £2500 x0.472 = {noro

125 m + 3.78m = 123.15m £2500 — L1050 = £ 1450

4__ ;\) E»press | & al & ,oe.r¢¢n-h.:)e o—g 2.0
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x 460 = 16xS %0 /,




Basic USE OF FPERCENTAGES ExEncisE
1;.) Expr¢5$ 37 as$ « ’oemenﬁae of 83
= 37 . loo - da.¢ /
33
¢) 82 balls | €3 red
[-)
Percar«{':«se ot red = ﬁ X 100 = 64—.6 A
. 32

Percebase of bloe = 1004 —¢al/e = 364/

d) 7172 ,oao,olc) 4 43 pass

°
Perr_ehl'aag ELu b Pkf! = 4473 % 100 = {7.4- /b
7772

Perr_ehh‘&e Etat Gl = IODZ - 5'7.4_0/0 = 4°2. é 76

by
b S




